Enrollment No: Exam Seat No:

C.U. SHAH UNIVERSITY

Summer Examination-2017

Subject Name: Quantity Surveying and Estimating
Subject Code : 2TE04QSE1 Branch: Diploma (Civil)

Semester: 4 Date : 26/04/2017 Time : 10:30 To 01:30 Marks : 70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions:

a) What is the volume of one bag cement?
(A)0.025m® (B)0.035m® (C)0.045m* (D) 0.055 m®
b) What is the water charges of any item in rate analysis?

(A) 1% (B) 1.5% (©C) 2% (D) 2.5%
c) What is the approximate proportion of labour cost and total cost of building?
(A)1:10 B)1:1 C)1:4 (D)1:2
d) What is standard size of brick?
(A)18x8x8cm (B)19x9x9cm
(C)20x 10x 10 cm (D)21x11x11lcm

e) What is density of steel?
(A) 2500 kg/m*® (B) 1000 kg/m*®  (C) 7850 kg/m® (D) 10000 kg/m®
f)  Unit of measurement for I.P.S. flooring is

(A)m® (B) m* C)m (D) kg

g) What is the required length of stirrup hook? Where d is the diameter of reinforced
bar.
(A)7.5d (B)9d (C)10d (D)12d

h)  What is the volume of one bag cement is taken while mortar are mixed by volume?
(A) 50 litre (B) 35 litre (C) 0.05 m® (D) 0.35m®

i)  What is the percentage volume of dry mortar are decreased by adding water?
(A)5% (B) 10 % (C)25% (D) 50 %

j)  What is the task work of mason for 10 cm thick partition wall?
(A)1.5m? (B) 1.25 m® (C)3m?® (D)5m?

k) Give the service unit for school
(A) student (B) classroom (C) room (D) seat

[)  Give the service unit for cinema
(A) man (B) kilometer (C) room (D) seat

m) What is the percentage of electrification cost as estimated building cost?
(A) 1% (B) 2% (C)8% (D) 12 %

n) For calculating quantity of masonry work and concrete work, area of opening is not
deducted if it is less than......
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(A)0.5m*  (B)0.3m? (C) 0.2 m* (D) 0.1 m?

Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
(a) Explain the rules for deduction of plastering and pointing. 05
(b) Define the following: 05
(i) Provisional sum, (ii) Prime cost, (iii) Contingencies, (iv) Specification, (v)
Estimate.
(c) Explain mode of measurements for plastering as per 1S-1200. 04
Q-3 Attempt all questions (14)
(@ Write a note on Schedule of rates (SOR). 05
(b) Write Purpose/Importances of Rate analysis. 05
(c) Define estimate? Enlist the types of estimate and explain any two estimate. 04
Q-4 Attempt all questions (14)
(@ Write the measurement units for following items: 07

(i) surface dressing, (ii) honeycomb brick masonry, (iii) Damp proof course, (iv)
centring and shuttering, (v) wooden frame of door and window, (vi) roof of G.I.
Sheet, (vii) dado.

(b) Explain the following methods of calculating the quantities: 07
(i) Centre line method and (ii) long wall short wall method.
Q-5 Attempt all questions (14)
(@) Define rate analysis. Explain factors affecting rate analysis. 07
(1+6)
(b)  Write down the specifications for 1% class building. 07
Q-6 Attempt all questions (14)
(@) Describe the principles of writingspecification. 07
(b) What is task work? State the Factor affecting Task work. 07
Q-7 Attempt all questions (14)
(@ Forabuilding plan shown in figl calculate the quantities of the following items 14

(a) Earth work in excavation for foundation

(b)PCC in foundation (1:4:8)

(c)R.C.C. Lintels over door-windows (with 15cm bearing and 10cm
thickness)

(d) Brickwork in foundation and plinth in c.m.(1:4)
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Attempt all questions

Calculate the following

i No of bricks required for 1 cu.m. bricks work.

ii No of cement bags for 1 cu.m. bricks work in cement mortar 1:6.
iii Quatity of sand for 1 cu.m. PCC in cement mortar 1:1.5:3.

Details specifications for various items
(1) Earth work in excavation in foundation.
(if) Cement concrete in foundation (1:4:8)

Attempt the following questions:

As Al RAo2ojse el B?

(A)0.025m®  (B)0.035m®  (C)0.045m® (D) 0.055 m°
22 WollellAlla Hiwell W deddla d?

(A) 1% (B) 1.5% (C) 2% (D) 2.5%
R IHRAUAUS oA S AW ojlRYHIRB2ESlL B?

(A)1:10 (B)1:1 (C)1:4 (D)1:2
g2 yHwRle|d Hiudegaa 82

(A)18x8x8cm (B) 19x9x9cm
(C)20x10x10cm (D)21x11x11cm

Bld oll elotcll Fecllala 2

(A) 2500 kg/m*®  (B) 1000 kg/m® (C) 7850 kg/m* (D) 10000 kg/m®

1IBA3L AHIUUARSHD

(A) m’ (B m’ (Cym (D) kg
w®lRugs ollazdlciontieclda druslge@donr deuud
(A)7.5d (B)9d (C)10d (D) 12d
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AsA{RARURNER HisEsRIMAASAUMRAAB AR AR of sEd2¢] AcuHiwAD?

(A) 50 litre (B) 35 litre (C) 0.05 m* (D)0.35m®
rsaleHIURIGARAL $E Fecll 25l U2 B?

(A) 5 % (B) 10 % (C) 25 % (D) 50 %
10 AL esstwdlate ctcz At ojers asdedsla 82

(A) 1.5 m? (B) 1.25 m* (C)3m? (D)5m?®
ALOUHIAARAS HALUL

(A) student (B) classroom (C) room (D) seat
RAMHRZAURASHAUW

(A) man (B) kilometer (C) room (D) seat
welBUslotmAail Feal est dlaollsemAsla B2

(A) 1% (B) 2% (C) 8 % (D) 12 %
ALLARSIHAUAS(B2 511 Mgl dRtdlHe, $cll AL (AR olt Bus{loL
AULES SRA.

(A)0.5m?>  (B)0.3m? (C) 0.2 m*(D) 0.1 m?

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

(@)
(b)

(©)

(a)
(b)
(©)

(a)

(b)

(a)
(b)

(@)
(b)

Attempt all questions

A2 U WEe2 HI sULd M2 (2070 Al

cA(uAL AU

(I)SIHAUAG EH (i) WEH W, (iii) BUSRAS WA | (iv) 2UELS0L, (v) VELY.
1S-1200 YHIA w2 sIH ot Hiucltell Al uHestal.

Attempt all questions

€2 YR (SOR) UR olltl AW,

22 Aol ol 3 / HEAAWL.

ARIAL ofl catuaul AW ? AWBLNE oll UsA AWl Al SlSuRl A AELNe UHHA D.

Attempt all questions
HIU of AsH AWl

Al el Aot HIURAS WL

(&) W3R, () Aoflause duatdr, (i11) 3 yg SR, (iv) Bedlsiel
wa U2l (v) ERAAAUA(AS letsslelldH, (vi) OURL HE % .. ollle, (vii)

sLsl
g2l ollolald?l HizellAolluglaall umstcl
(i) Aot oflugldual (ii) dict€ladsiadelugld

Attempt all questions
22 Aol llacaivayl Al 22 Aol Al WAR sl UR ol AHs A

YA SA oll 82 HI2rUr! 5200 AUl

Attempt all questions
Adlsel Auietell Rgidla aeial.

25 Ab9iD? 2125 adb A UUR 5cll URHUA Al
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(@)

(b)

Attempt all questions (14)
figl HiHdAlRUYHIRRSH SIS A Mol Ae{lotald 353 14

(8) URUMIRWIE oL

(W) waHilM:{l(1:4:8)

() R.c.c. olRela ol RRTAlRA (15cm AR 10cm ASISUA)
(D) $GR Aot Aol Ui [@sas A 1 (1: 4)

{

Attempt all questions (14)
Calculate the following 10

A3l $2A
q H1® ARLAR sH HL ALl g2l
4 {13 ARdR stH 1R RRAe2 ol Al (1:9)

Ll uRldR st 1A ol 1w

QR &l 2undlsel Wl 04
(1) WRUHIRHLE cllo $LHL
(R) UWAHI RNz 552 (1: 4: 8)
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